 1 with ada.integer_text_io;
 2 procedure test_stuff is         -- test_stuff.adb
 3  naturalNumber : natural;
 4  positiveNumber : positive;
 5  begin
 6     naturalNumber := 0;
 7 
 ada.integer_text_io.put (naturalNumber);
 8  -- positiveNumber := 0; illegal assignment; 0 not in positive integer range
 9    ada.integer_text_io.put (positiveNumber); 
10  end test_stuff;
1 with ada.integer_text_io;
 2 procedure test_stuff2 is      -- test_stuff2.adb
 3  naturalNumber : natural;
 4  positiveNumber : positive;
 5  begin
 6     naturalNumber := 0;
 7 
 ada.integer_text_io.put(naturalNumber); 
 8  -- positiveNumber := 0;  illegal assignment; 0 not in positive integer range   

 9    ada.integer_text_io.put(positiveNumber); -- value read but not assigned BAD

10  end test_stuff2;
